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e chg: BNHIIE, data: HFIZ4EENRA(ZXNIE)

20 struct Node {
21 int chg, data;

22 } ST[MAXN*4];
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[a, b]:FOE&ME, i:E0%AAR5R, [1, r]:ZENFBENER, x:ZNMNLENEF

24 void add(int a, int b, int i, int 1, int r, int x) {
25 if(a<=1 && r<=b) ST[i].chg += Xx;

26 else if(r<a || b<l) return ;

27 else {

28 int m = (1+r) / 2, 1lson = i*2+1, rson=1i*2+2;

29 add(a, b, 1lson, 1, m, x);

30 add(a, b, rson, m#1, r, Xx);

31 ST[i].data = max(ST[lson].data+ST[1lson].chg,

32 ST[rson].data+ST[rson].chg);
33

34 }
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36 int query(int a, int b, int i, int 1, int r) {

37 if(a<=1 && r<=b) return ST[i].data+ST[i].chg;
38 else if(r<a || b<l) return -1;

39 else {

40 int m = (1+r) / 2, 1lson = i*2+1, rson=1i*2+2;

41 int x1 = query(a, b, 1lson, 1, m);
42 int x2 = query(a, b, rson, m+l, r);
43 return max(x1l, x2)+ST[i].chg;
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e chgl: MMERIBL, chg2: ERER (Llchgl=0, ch2=0F&K/NEHIEN)

20 struct Node {
21 int chgl, chg2, data;

22 } ST[MAXN*4];
23
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24 void push(int i, int 1lson, int rson) {

25 if(ST[i].chg2 > @) {

26 ST[i].data = ST[i].chg2;

27 if(lson »>= @) ST[lson].chg2 = ST[i].chg2, ST[1lson].chgl
28 if(rson >= 8) ST[rson].chg2 = ST[i].chg2, ST[rson].chgl
29 ST[i].chg2 = @;

30 }

31 if(ST[i].chgl > @) {

32 ST[i].data += ST[i].chgl;

33 if(lson »>= @) ST[lson].chgl ST[i].chgl;
34 if(rson >= 8) ST[rson].chgl ST[i].chgl;
35 ST[i].chgl = @;

36

37 }




39 void add(int a, int b, int i, int 1, int r, int x) {
40 int 1lson = i*2+1, rson = i*2+2;

41 if(l == r) 1lson = rson = -1;

42 push(i, lson, rson);

43 if(a<=1 && r<=b) ST[i].chgl += Xx;

44 else if(r<a || b<l) return ;

45 else {

46 intm= (1+r) / 2;

47 add(a, b, 1lson, 1, m, x);

48 add(a, b, rson, m#1, r, Xx);

49 int x1 = (ST[1lson].chg2>8 ? ST[lson].chg2 : ST[lson].data)+ST[lson].chgl;
50 int x2 = (ST[rson].chg2>8 ? ST[rson].chg2 : ST[rson].data)+ST[rson].chgl;
51 ST[i].data = max(x1l, x2);

52

53 }
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55 void chg(int a, int b, int i, int 1, int r, int x) {

int lson = i*2+1, rson = i*2+2;

if(l == r) 1lson = rson = -1;

push(i, lson, rson);

if(a<=1 && r<=b) ST[i].chg2 = x;

else if(r<a || b<l) return ;

else {
intm= (1+r) / 2;
chg(a, b, 1lson, 1, m, x);
chg(a, b, rson, m+l, r, x);
int x1 = (ST[1lson].chg2>8 ? ST[lson].chg2
int x2 = (ST[rson].chg2>@ ? ST[rson].chg2 :
ST[i].data = max(x1, x2);

: ST[1lson].data)+ST[1lson].chgl;

ST[rson].data)+ST[rson].chgl;
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871 int query(int a, int b, int i, int 1, int r) {

(& 51 38 ]

int 1son = i*2+1, rson = i*2+2;

if(l == r) 1lson = rson = -1;

push(i, lson, rson);

if(a<=1 && r<=b) return ST[i].data;
else if(r<a || b<l) return -1;

else {

int m = (1+r) / 2;

int x1 = query(a, b, 1lson, 1, m);
int x2 = query(a, b, rson, m+l, r);
return max(x1l, x2) + ST[i].chgl;



« MIMIREI5HES " BAIREC L (lazy tag) °
« BB TNE - ZRAINRERESEEEE—

° __M]\/ZIZIA TSE

» ZEREAILEBLUTHE - MRS EEBURE N ERRHERL

RIS
y IEFEEE/\*EL*EE’\JJ?EMJ

IRBE B HIFHE S B

- AR EEAEZI S

C




